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On the graph below, sketch-@ sin(x) undé{sy sin(-x).

r ~
State the transformation that maps f(x) ento g(x). - LK)

Y Test is Friday

2. On the graph below, sketch:@: cos(x) and g(x) = -cos(x). E' Z.(rr; Z'n']

State the transformation that maps f(x) onto g(x). r)( -Q 'U':_{.

Retakes on Quiz 1 must be
done by EOD Wednesday.
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3-6: Simplify. 3K = Sisk, Zy :%‘L)‘
X T Tk o T —
3. _s_ecx‘;inx %)ﬁ« 4. sinx cotix secix
i e Sin™x. o8’ _1_ /]
05X tanx _go~¥ sin'x  C0S’%
—_— - [}
cotx cotX mw
- tanx - tanx =
ﬂf‘x tan® x
cosx-cotx £ sinx-tanx
cotx _ ¢osx 1 tanx _ Sinx I
CoSX SInX  (osx Sinx cosX  Sinx

SRR kb = 1
sinx @ coSx = e
In7-10: Given f(x) = sin(x), state the transformations to produce g(x).
7. a(x) = 2sin(x) - 4
- Vertical Siretch 12
. downt

8. g(x) = -Bsin(x) + 1
- x-axis
- Vertical Streich 5

9. g(x)=sin(-x)+ 3 10, g(x)= 25In[x+ 1_;'}_ 3

*Ty-axis « Vertical stredch 2
2 leqt T
-down 3
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Translation s

...and to think, we both evolved from a single cell!

Dec 3-9:57 AM
M M
y = Acos(bx + ¢) + d y = Asin(bx+c) + d g'_’@s%
y = Acos(bx + ¢) + d = describes a curve that starts at A + d v
[ (N P

y = Asin(bx + ¢) + d = describes a curve that starts at 0 + d
m (j"s:\'\x

Amplitude = |A| Vertical Shift =d (msdd k)
Period @Ué‘ﬂﬂ\ % ! (%_C(L_B Phase Shift = -E
1 honi zam 124
= # cye e+ ( o -
Frequency period ( ,-My;tm'oé) S}Ubﬁb)

Dec 3-10:03 AM
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Find the amplitude, vertical shift, range, pzmcd frequency and phase shift:
Y = = Ao s(b¥ 1D +d -ontS
@ y = 7005‘%+%: y = -Bsin(4x - )
N A - 0
amp =7 JVM""M"—:O amp = 7 Vs.= 6
o~ o
range = [-7, 'l] K range = L"Kl 8‘] -¥
21 7%
period:g'i'ﬂ: Ty, = ﬂﬂ’L/ per'iod:j%ﬂ'-'g
frequency = ‘llf— frequency = 27
- ) _
phase shift =7— = T=—ﬂ' z '5'— =G 4
A (r.,m)
T2
_ (gt ') |
Jan 17-4:20 PM
Y= A<m(b<+c) +4 /rx—ﬂ"“'s
3
_4 3+_ -1 b osin 2x- 2|+ S
&) y = f4sin| 3x y X sm:“ x z)
r)(’MaS amp = l’/ 13\ amp = % K
Per
f\) vs= =/ (mildle) ’T‘-y vz S ST
3
k/\ range = [ -5, -5] range = L3, 7)
period = %‘n:‘ 3ﬂ period = 9_—.—91:—- = 7
2 -
frequency = 5-—— frequency = 7
- -1 (
S = ~C— "3 37) _[ = E" - - [ - 1 - —
5 jﬂt 73 "o N6 2t
=-7 (right)
‘/

(1)

Jan 17-4:20 PM
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Jan 11-9:06 AM

y=Aoslbrie) +d
5. Graphy = 2cos(x) in the interval [-2m, 27]
Amp = > Period = g: 277 xscl =eﬂ’_'-_-9‘.{zl= :g:_
Y. S, = 0 (1
Range = [—2, l:l )L’ch_ Frequency =2-A'_n— No /I\%e_ J‘\-‘g‘!-
1 ¢« = - _ e nho C
L .cosgs = 1,01, 0, | ﬁ;}(l(ol-;.o,() = (2,0:2,02) v eloe
’ -
/ o /.
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Jan 17-4:22 PM
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6. Grophy:= -ECos!xi - 1 in the interval [-2m, 211'],
2
Amp = =k "y 1\")' Period = "" =27 xscl :e%': T{'ﬂ_’g
v.s.=-l ‘L:;A 0 PP ,/\m
Range = Frequency = 277 (4 e N
3,1
311 ‘6 = (1,0, -, @ ()~—>XA +d > xL,-/ ket
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Jan 17-4:24 PM

Jan 17-4:22 PM
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